Change Order No.

Date of Issuance: 10/1/24 Effective Date: 10/1/24 Owner: Owner's Contract No.: City of Lander

Contractor: High Country Construction Contractor's Project No.:

Engineer: Engineer's Project No.: 10193520 HDR Engineering, Inc. Project: Contract Name: Lander High Pressure Water

System Upgrades – Phase III Projects

The Contract is modified as follows upon execution of this Change Order:

Description:

Item	Item Description	Cost	Time (calendar days)	
1	Reconnection of customer at 15+34 (05C002) after abandonment of old lines	\$ 27,350.00	14	
2	Additional Level Sensor Installed in Tank + Conduit, Wiring, Programming	\$ 4,671.07	1	
3	Additional Flange adapters needed in PRV vaults	\$ 1,865.44	1	
4	Pump skid modifications for field fit and maintenance	\$ 1,195.43	2	
	Total	\$ 35,081.94	18	

Tank and Pump Station

CHANGE IN CONTRACT PRICE	CHANGE IN CONTRACT TIMES					
Original Contract Price:	Original Contract Times:					
	Substantial Completion: <u>6/26/2024</u>					
\$ <u>9,484,375.50</u>	Ready for Final Payment: 7/26/2024					
Increase from previously approved Change Orders No. <u>0</u>	Increase from previously approved Change Orders No.					
to No. <u>1</u> :	<u>0</u> to No. <u>1</u> :					
	Substantial Completion: <u>11/30/2024</u>					
\$ 13,425	Ready for Final Payment: 30 calendar days after substantial completion					
Contract Price prior to this Change Order:	Contract Times prior to this Change Order:					
	Substantial Completion: <u>11/30/2024</u>					
\$ <u>9,497,800.50</u>	Ready for Final Payment: 30 calendar days after substantial completion					
Increase of this Change Order:	Increase of this Change Order:					
•	Substantial Completion: 18 calendar days					
\$ 35,081.94	Ready for Final Payment: no change					
Contract Price incorporating this Change Order:	Contract Times with all approved Change Orders:					
	Substantial Completion: 12/18/2024					
\$ <u>9,532,882.44</u>	Ready for Final Payment: 30 calendar days after substantial completion					
RECOMMENDED: ACC	EPTED: ACCEPTED:					
By: Mul M Shilly By:	Ву:					

	RECOMMENDED:	ACCEPTED:		ACCEPTED:			
By:	Mul M Shilly	By:		By:			
	Engineer (if required)		Owner (Authorized Signature)		Contractor (Authorized Signature)		
Title:	Project Manager	Title		Title			
Date:	10/1/2024	Date		Date			

08/26/2024 14:56 2302CO 2302 Lander High Pressure Change Order *** **BID TOTALS** Bid Total **Biditem** Description Status - Rnd Units **Unit Price Quantity** REMOVE EXISTING FENCE 10 U 10.000 LF 15.00 150.00 TEMPORARY WATER SERVICE U EA 20 1.000 1,610.00 1,610.00 REMOVE REPLACE GRADING W BASE 30 U 4.000 **FONS** 125.00 500.00 40 REMOVE REPLACE ASPHALT PAVING U 13.000 SY 357.00 4.641.00 1.000 50 EXPOSE EXISTING SERVICE CONNECTION U 879.00 879.00 EA U 1.000 60 16" SERVICE SADDLE FOR 1" W/CORP STOP EA 2.564.00 2.564.00 70 1" PE SERVICE LINE U 20.000 LF 51.00 1.020.00 80 18" TANDEM METER PIT W/PRV U 1.000 EA 5,044.00 5,044.00 90 1" CURB VALVE AND CURB BOX U 1.000 EA 1,927.00 1,927.00 100 1" SERVICE LINE IN EXISTING CASING U 220.000 LS 36.00 7,920.00 110 CONNECT TO EXISTING WATER SERVICE AT CURB STOP U 1.000 EΑ 586.00 586.00 REMOVE EXISTING CURB STOP U 293.00 293.00 120 1.000 EΑ REMOVE AND INSTALL TYPE F FENCE END PANEL 130 U 1.000 EA 1,555.00 1,555.00 \$28,689.00 Service in Casing 200 REMOVE EXISTING FENCE U 10.000 LF 15.00 150.00 U 210 EXPOSE EXISTING SERVICE CONNECTION 1.000 EA 879.00 879.00 220 16" SERVICE SADDLE FOR 1" SERVICE W'CORPSTOP U 1.000 EA 2,564.00 2,564.00 1" PE SEVICE LINE U LF 1.020.00 230 20.000 51.00 240 18" TANDEM COUL METER PIT W/PRV IJ 1.000 EΑ 5.044.00 5,044.00 250 1" CURV VALVE AND CURB BOX U 1.000 EA 1,927.00 1,927.00 LF TRENCHLESS 1" SERVICE LINE U 220.000 13,332.00 260 60.60 270 CONNECT TO EXISTING WATER SERVICE @ CURB STOP IJ 1.000 EΑ 586.00 586.00 280 REMOVE EXISTING CURB STOP U 1.000 EΑ 293.00 293.00 290 REMOVE AND INSTALL TYPE F FENCE END PANEL U 1.000 EA 1,555.00 1,555.00 Trenchless Option \$27,350.00 300 CONNECT TO EXIST WATER SERVICE U 2.000 EA 1,785.00 3,570.00 II 310 2" COMPRESSION 90 BEND 1.000 EA 578.00 578.00

U

IJ

1.000

30.000

EΑ

LF

542.00

81.00

542.00

2.430.00

320

330

2" COMPRESSION 45 BEND

2" PE SERVICE LINE

08/26/2024 2302CO *** Biditem	14:56 2302 Lander High Pressure Change Order Description	BID TOTALS <u>Status - Rnd</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	Bid Total
340	PLUG/ABANDON OLD LINES	U	4.000	EA	2,150.00	8,600.00
350	20" SERVICE SADDLE FOR 2" SERVICE	U	3.000	EA	3,170.00	9,510.00
360	2" CURB VALVE & CURB SERVICE BOX	U	3.000	EA	4,490.00	13,470.00
370	METER PIT ASSEMBLY	Ü	3.000	EA	4,620.00	13,860.00
380	CONTINUOUS COLLAR AROUD CURB BOX	U	1.000	EA	1,500.00	1,500.00
390	EXPLORATORY EX	U	3.000	HR	800.00	2,400.00
400	TRENCHLESS 2" SERVICE LINE.	U	660.000	LF	97.50	64,350.00
			Bore Services			<u>\$120,810.00</u>
500	6" FLANGE ADAPTER PRV		8.000	EA	233.18	1,865.44
		PR	V Extra Fittrings			\$1,865.44
			Bid Total	=====>		\$178,714.44

Shelby, Uriel

From: Chad Connell <chadc@highcountryconst.com>

Sent: Thursday, September 5, 2024 10:28 AM

To: Shelby, Uriel **Subject:** cost for pump

CAUTION: [EXTERNAL] This email originated from outside of the organization. Do not click links or open attachments unless you recognize the sender and know the content is safe.

Urie,

The cost for the pump is \$1,195.43

Labor \$669.60 Material \$525.83

Thank You

Chad Connell President High Country Construction, Inc. 307-332-4933 307-330-8175 Cell



Shelby, Uriel

From: Chad Connell <chadc@highcountryconst.com>

Sent: Tuesday, October 1, 2024 1:40 PM

To: Shelby, Uriel **Subject:** level indicator

CAUTION: [EXTERNAL] This email originated from outside of the organization. Do not click links or open attachments unless you recognize the sender and know the content is safe.

Uri

Cost to install level indicator

\$4,671.07

Thank You

Chad Connell President High Country Construction, Inc. 307-332-4933 307-330-8175 Cell

